
Lecture 7 - May 27

Lexical Analysis

DFA: Formulation
DFA δ : Non-Recursive vs. Recursive
NFA: Motivation



Announcements/Reminders

• Assignment 1 to be released next Monday
• Review Slides on Math posted



DFA: Exercise

Draw the transition diagram of a DFA which accepts/recognizes 
the following language:

{ w | w ≠ ε ∧ w has equal # of alternating 0’s and 1’s }
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DFA: Formulation (1)
Language of a DFA

e.g., 0101
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DFA: Formulation (2)
Language of a DFA

e.g., 010
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DFA vs. NFA
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NFA Behaviour ≈ Alternative Universe

Trace: 00101

Obviously the time continuum has been disrupted, creating this new 
temporal event sequence resulting in this alternate reality. - Doc BrownEeee
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